1x1= 2x 1= Jxl= 4x1=
1x2= 2xZ= JxZ= 4dx2=
1x3= 2x3= Jx3= 4x3=
1x4= 2xd= Jxd= 4x4=
1x5= 2x b= Jxb= 4dxh=
1xb= 2xhb= Jxhb= 4xb=
1x7T= 2xT= Ixi= 4x7T=
1xa= 2xa= Jxe= 4x8=
1x9= 2x9= Jx9= 4x9=
1x10 = 2x10 = Ix10 = 4 x10 =
1x11 = 2x11 = Ix1 = 4x11 =
1x12 = 2x12 = Ix12 = 4 x12 =
Exl= bx1= fxl= gxl=
Axd= Bxd= Tx2= Bxd=
bx 3= bx3= fx3= Bx3=
bxd= bxd= fxd= gxd=
Axh= Bxh= fTx6= gx b=
bxb= bxb= fxhb= 8xhb=
ExT = bx T = fxi= gxi=
hxg= Bxag= fxg6= gxa=
Ex 9= bx9= fx9= Bx9=
510 = b x10 = 7 x10 = g x10 =
Fx1 = Bx11= T x11= 8 x11 =
12 = b x12 = fx12 = g8 x12 =
9x1= Mx1= Mx1= 12x1=
gx2= Mx2= Mx2= 12x2=
9x3= Mx3= Mx3= 12x 3=
9xd= Mxd= Mxd= 12x4=
9x b= MxbH= Mxb= 12 x5 =
9x b= Mxb= Mxb= 12x 6=
9x 7= MxT= MNMxT= 12x 7=
9x 8= Mx8= Mx8= 12x8 =
9x9= Mx9= Mx9= 12x9=
9 x10 = 10 %10 = M x10= 12 x 10 =
g x11 = MWx11= Mx1= 12x 11 =
9 x12 = 10 x12 = M x12 = 12 x 12 =




